B SR RA RS 110 2 E A FH 224 R L B o e R ek

R PERBRIILFES5A108 (=) FH28530 4
M D ATERME G A 3 9 E
R RS A R (RIE) ek MG E

o~ ZIRAR D Gl —)

#

s EREERGE  sMaRshE B RN E R RS

A\ AR
(1) #FEEHE

110 4 8 A 35 0 #HIE 37 4 2 A A5 2R B R 1F ARG HRBIEH S » iR d RE - 22 L6 - 7
PRGN  HRALE  BREARE - FIEF L A T R RAREMRE > RS EL
KB PPN BELMEEG > THH LA N0 R FEANZNA > HEBRLAKEE S bA
R BRI R A N B Y TS ATR ESRE 0 1 507 ARE Sdo o

(2) HERR/aE -

1

104~111 2 45 5 2K 763 4 R3O0 2 Bl e 3fag > 111 25 E b A2 L6 LB s e dh 28 27
1o MBEMBEARMIERES c BB LA THELENSHRS e BBE - RERF B
A~ B EZHE2HAEAB S

110 42 4 Br B o A 444 kSR 47 37 4 8 AR o 4 39 A 77 0B 36 443 A 28 3R 2 ik » 30 R Ak e A
AL ) B S o TR R A2 oy Bk E R RN P A e B R AT |2 B R4 18 2 A A B S e
A2 M1 AR PR E R 30 4 0 O3 AR LI IR G R RORELE TS B
W Bh T E B ~ M EE Ao P 0 AT FCE BT > LR W B IR R S L IR AR A LA - dh3E
BER IS0 3 B ARG & 4R > HIRWIE TR RIBME L RN 3| d R
el 2 3 B B R AT S — A R ) AR ~ PR M AR o AR AR W A I R R
F(—)RIL "I ik b | 0 LRI hoih vl B AT 3 B AR oA o R A HEAE SA A R P M Bh 3
RALSE S —EE R ORI RUPALR RERIATRBAETIH ) -

99 £ 110 B4 EMmm 4 EYMHM - TR ML kA L HMERME  CHEEY
39 48 35 M (http://physics.nfu.edu.tw/) = 4 4 8 24 o

BLA Ty I B R 0 108 2240 AL 4 38 oL By /N -

110 45 2R G A7 T Ao R BAT 0 b3t 4R 2R LS 22 E9E8 - TEMNA 18
B4R S L& H o

(3) #AkmRE NG

I

110 @45 AR Y2 £ RATN 110 £9 A 7 B T4 1440-15:30 47 B A Rk A8 e
ARSI IR AR B AL E 0 B AR 110 LAy Rt P aE 4 - BiEm 110 £ 5%
ARG A AR MR REAE 22 4 BHM BB HE -

A R AR AR R BR RS R A E R AR S s R U MR A
ELEER AER iR MRS B BIE - B BHIURMIE L 7N 110-1 43 e
RF R ARBE [FABITHERR] 3 E At Ed AP oo $AEH6-F 3R 65
e RESUMBLSBEAKXMERR > HEN "HHS>ERMENS , Lo BILREEATAER



FEREERR BT YR
P & S R MM B R
Heh B e -

3. M0BFEE | SMUE I T EFRMREA T ATE IR 249 FIROHES o L HF
BIAR A TE LRSS AE 3417 5812968 5 - 110 25 EE 2 2MMUHI> T €42
BEEITRTH 2583 4 -

4. FBrEEMAAEsHE BN IILES AS BCGEw)RM > RREALN XL F BB EAT =463
A AR A I8 e SR UK BB -

50 9721085 E ¢4+ FAREFM MM R ERRIFM - BEAHH - HAEHHEALE
FAMAREE RS CETNBBHFT P ORAW@EN  RELAKRYLE > BEHFHEINT -

6. EIRBTHLOEHEM > TN 105 S5 2B RIS LT MEAURIGE L3S 106
BERE PG EHFEE T -

7. FFEMEAAE S TA RFHEHE 110 24 LT 2oL A B — 918 — % b 18:30-21:30 7 = #4
HERAM— 10T HERT AR —LELFEE BFLGEMNARE LS e S HBPE S0 -

8. WHMEMTEIBAHE T BHEHNZMELE > TN 10F 11 A 26 8B ZEEHMW > A8 5"
A EHS > $HETAE "ERAMELAEMMBIHE T ) RERI IR ERIEERE -
AR B R R o AP TER B ) RAR ARG 0 R AR TR
HE O THEHS ) R TEEBRHNE ) Sl AN I RREY -

AT AWM IEMAERASFE B hHAEEHEL AERBRETIANEE
AR OB ERER G R ERR I LA ARIANEL ik h 24

s REWH

B — AR 107 REE 109 REREMAZNASREZ LY REAIMER > T RIMEHI 4 L
T RA2E B RE > RFAw

REEM HEXHA -

CA

i

LARYE £ R &3 F A b & B BRI £ 15 SRAR 2 A SR PRP fAe SR AZ S B AT R
#t o
2AMFRABRE T BRI 0 SHEH £ 8 107 £ 42 109 5B M A R G E
ko0 RAR A ASEBE - AR T - MR~ (LR ER F 4 PTLIE SR
M7 A B S0 S 3R AR 2 R A o I A =
AATHE 4 PYS0A53RAR Jo (TR A 228 A > 3 8 T RISR AR Aok -

Ao R RO S 0 - WIS (G R 4 PIRMSIRAE > KR ET T 44 AR
M A il R R SR P > AR AR S0 D SR A2 BB A5 Y A

£ ho: HAMBEIAHRBMAE BEAETHEER 0 MNARME REAME S ENAM ER -
WREENL  MAA R M o
3R, B A R e T BB HERR  HEEE AP OB s BIEMG-F RN



au%%ﬁAﬂAmﬂ%ﬁ%%m

GBI REMY > BURMEAPAETHELER
3% o B2 A Mg

T s R B 0 AR R R SRR 4 0 e
48 32 M

i ﬁ%%w%\%%Tuﬁﬁiy EAETHERA REEAPLATNHEEER e
16 3 B AL S 036 2R A2 4 5T BA L BRI E o

o= SN CNES T
BEAARER

14 P53 424530 7T A 9L A0 Bl 4 33012 B 2302 > fr4a B 3042

0. P4 EAARRA 0 BIMAR MR RS

16~ LM R A A B EBA LT 6% -

2 v

e T 328 aRER



